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1 př́ıklad 2

f ∈ D ′?

a. (f, ϕ) = ϕ(π) = (δπ, ϕ)
linearita: (f, aϕ+ ψ) = (aϕ+ ψ)(π) = aϕ(π) + ψ(π) = a(f, ϕ) + (f, ψ)

spojitost: ϕn
D−→ ϕ ⇒ ϕn ⇒ ϕ ⇒ limn→+∞ ϕn = ϕ ⇒ lim(f, ϕn) =

limϕn(π) = ϕ(π) = (f, ϕ)
f ∈ D ′

b. (f, ϕ) = (ϕ(0))2

linearita: (f, aϕ + ψ) = [(aϕ + ψ)(0)]2 = (aϕ(0) + ψ(0))2 = a2ϕ2(0) +
2aϕ(0)ψ(0) + ψ2(0) 6= a(f, ϕ) + (f, ψ)
f /∈ D ′

2 př́ıklad 3

f ∈ D ′?

a. (f, ϕ) = ϕ(n)(π)
linearita: (f, aϕ + ψ) = (aϕ + ψ)(n)(π) = aϕ(n)(π) + ψ(n)(π) = a(f, ϕ) +
(f, ψ)

spojitost: ϕn
D−→ ϕ ⇒ ∀αDαϕn ⇒ Dαϕ ⇒ limk→+∞ ϕ

(n)
k = ϕ(n) ⇒

lim(f, ϕk) = limϕ
(n)
k (π) = ϕ(n)(π) = (f, ϕ)

f ∈ D ′

b. (f, ϕ) = limx→+∞ ϕ(x) = 0 = (0, ϕ)
D ′ je vektorový prostor ⇒ 0 ∈ D ′

f ∈ D ′
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